
Square And Square Roots
Ex. 5.3
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&. 5. 3

1 . (A) 3 digita
F23I-3 digits

2. 2. I

24 .4 #41 = 2 . 1 (B)

=
- 41

↓ O

3. 13

1 165

5
- 69

Y

: Least number to be added = 4 (C)

4
+ 2 -4

47343I -329
14

least number to be subtracted 14 (B)
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number·

not
of four dito

24

:. Least number of four digits which is a perfect
square = 1000 + 24 = 1024 (D)

D
E

G . Using Pythagoras theorem in ABC 1. Sm

ACC = AB+ BC2 T
A

Im
B

or Ac = 22 + (1 ·S)2 15

or AC= 4 + 2. 25 2 6 .S

or Ac " = 6 . 25 + 2 -4

or Ac=25 45 225

or AC= 2 . S (C) - 225

D

7 a. 2801

Since two fairs are formed
:. Number of digita in square root = 2

b . 225

Number of digits in square root =2

e

.43 two fairs are formed
:. Number of digita in square root = 2
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d. 1161
Number of digits in square root = 3

8 a 19

1 3

+ 1 - 1 531 = 19

29261

-261

E

b .

s
+ 5 -25 Fon = S2

102 I 204- 204

O
I

C so
+ 8 -64 - 4 = 82

162 324

- 324

8

d. 151

1 2281

++ -1 #2801 = 151

25128

+ S -125

301 301
- 301

I O
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248~79
7

e Jozszt not B36 #x2x3x3 73
-

= 3

* 7
3

= St

a 59816711489
59 67

=
= *
I 59

07

10.a

2
+ 2 -4 576 = 2 . 6

46275

- 276

&
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2 . 7

b . 27 . 29
-

+. 2 - 4 =29 = 2. 7

47329

-

329

&

0 . 25

e-

00 Noses = 0 . 25

45 225

- 225

8

d . 7 . 2

751 . 84

+ 7 -49 5. 84 = 7 . 2

142 I -284284
D

11 . Let the number bec

xxx = 5 . 0625 2. 2
.
5

-

or x2 = 5 . 0625 2 5 . 1625

or x= 550625 + 2 - 4

ve x = 2 . 25 42 106

:. Required number= 2. 25 + 2 - 84
-

445 2225

- 2225

D

cb
se

as
sis

tan
ce

.co
m



25

12 .a #296x62S 3 262

= N296 X 2S + 3 - 9 + 2 - 4

= 36x25 66 396 45 225

= 908 - 396 -225

O ⑧

b+x 32 .49 29 5. 7

- 1x 55249 28. 41 532 . 19
-

= 2 .9x5 . 7 + 2 - 4 + S - 25

= 16 . 53 49 441 107 749

- 441 - 749

& &

C 1 . 9 8.5

- 1 3. S 125

= 5567 + 1 - 1 + 8 - 64

#25 29 26 1 165 825

E 1 . 9 - 261 - 825
-

8-5 O 8

= E

13 . Greatest number of four digits = 1999
9

9 1999 Required perfect square number
+ 9 - 81 = 9999-198

189 1899 = 9801

- 1701

198
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14 . Let the side of square be em

Area of square= 156 . 25 em'

or x
2
= 156 .25 12 .5

on x= 156. 25 1 166 . S

or 32= 1 2 .5 + 1 - 1
-

: Side of square = 12.5em 22 SS

+ 2 - 44

245 1225

- 1225

O

15. 22

2500

+ 2 - 4

42 I 100- 84
16

.. No . of children left out in the arrangement
= 16
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